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QUESTION 1
A bin contains 40 pills with a weight of 3.1 gm. each, 30 pills weighing 3.2 gms each and 10 pills weighing

3.3 gms each. The weight of an average pill is found from

3

(3.1)(40)+3.2(30)+
3

B

(3:1+3:243.3)105
580

C.

(3.1)(40)+ 3.2 (30)+
50

D.

A. Option A

B. Option B
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C. Option C
D. Option D

Correct Answer: D

QUESTION 2

The ideal results of a quality training effort would NOT include which of the following?
A. Increased cost-of-quality results.

B. Improved working methods and morale.

C. Increased productivity and job satisfaction.

D. Reduced defects and employee turn-over.

Correct Answer: A

QUESTION 3

Of the problem solving categories below, what is the usual sequence?
1.

Select a problem needing improvement.
2.

Collect data.

3.

Implement the solution.

4,

Determine if project is appropriate.

5.

Study current procedures.

6.

Determine candidates for data collection.
7.

Analyze data.

8.
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Solve the problem.

A.1,4,56,3,8,2,7
B.1,5,4,6,2,7,8,3
C.1,5,6,2,4,8,7,3
D.4,1,5/6,2,7,8,3

Correct Answer: B

QUESTION 4

The hypergeometric distribution should be used instead of the binomial distribution when

A. There are more than 2 outcomes on a single trial.
B. Each trial in independent.

C. Sampling does not involve replacement.

D. There is a fixed number of trials.

Correct Answer: C

QUESTION 5

Corrective action requests are primarily

A. Issued to correct supplier deficiencies.

B. Generated to correct auditing deficiencies.

C. Formal requests for corrective and preventive action.

D. A result of nonconformances detected in the internal inspection process.

Correct Answer: C
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